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TR
(4%)

Hlsuet =4 (4
%)

D. For a newly designed highway, the design speed is 100 kph, the average travel
speeds under low, medium, and high traffic flows are 85, 78, and 60 kph,
respectively. The friction coefficient is 0.300 (longitudinal) and the side friction
factor is 0.120. Given a circular curve (for horizontal alignment) with an
intersection angle 1=25°, maximum superelevation rate =0.06. Please (1)
Determine two stopping sight distance (standard value and minimum
value); (2) Determine the minimum curve radius and the minimum length of arc.

(16%)

Type

Equations including input
values

Results

Stopping Sight
Distance (8%)

(Standard Value)

(Minimum Value)

Minimum Curve
Radius (4%)

Length of Arc
(4%)

1+ —'JDF%; A (8 %’? P

Sy pliAse B s~ e -

2 ~ The length of highway needed to accomplish the change in cross slope from a
section with adverse crown removed to a fully superelevated section is called the

3 ~ Please list the equation to determine the minimum length of the transition curve
for highways (to provide a gradual change from the tangent section to the circular

curve).




